@ 330a=3.3ha @ 20ha = 0.2km?
@ 540000 m2 = 54 ha @ 6.1ha = 6100 m?

® 1.7km? = 17000 a



@ 3.6ha = 360m?2
® 240a = 0.024 km?

® 8km? = 8000000 a

@ 46a = 46000 m?

@ 300m? = 0.03a



3. the FolA Holrt by 2 AL ol AU

O 0.04 km? @ 0.4ha ® 400a

@ 400000 m? ® 4ha



4. TR FOIA WolZk 1 2 AL ol R AW

D 4m? @ 40cm? ® 40m?

@ 4000 cm? ® 40000 cm?
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@O 8000g = 8kg @ 0.4t =400kg
® 1300kg = 1.3t @ 017t =170g

® 5630000g = 5630 kg
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22 o YYETtE ohrt Aoz vk AL oL AYLR)

® 126 + 180 @ 126 — 180

® 126 +7-180+9 @ 180+9-126+7

® 126 +7+180+9
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4.2 ha

)

420(

)

42000(

® m? a

@ km?, a

® m?2, cm?

® ha, a

@ ha, m?



( )bl uke TRl E A2 112 A2 o] ZRIX] I EA|Q
3700000( ) =370( )= 3.7km?

@ m?, cm? @ m?, a @ m?, ha

@ ha, m? ® a, ha



13. FHPARF Y Yol X vetd A2 o= AJY7t?
@O 480000 m?2 @ 4.8 km?

® 4800a @ 48ha

® 4800000000 cm?



14.

7Z-2old|+= 3.2ha 2] oA & 5.6t 2 AASII AL, R |= 4
o] =l A & 7920 kg & AAISFAFUTE 1a & A4tFS o]
9 kg o ¥H5U7R

O A2, 1kg @ AL, 0.1kg ® 94, 0.01kg
@ w9, 1kg ® "9, 0.1kg

a
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